
Description :

Use. :

Part. nr. : State :

Fabric set
Fixscreen Minimal IM1/7

This drawing is owned by RENSON and may not be copied
or shown to third parties without written permission.

www.renson.eu  -  8790 Waregem (Belgium) Creation date :

A3Doc. nr.: units in mm

Drawn :

Size :

Scale :

Sheet :

1 : 5

04/07/2019

1 /2 

clipp
Work in ProgressRevision

2

7

8

11

9

10

12

14

15

16

17

10

9

18

3

4

5

6

1

1

13

15

Artikelomschrijvingen: zie pagina 2
Description des articles : voir page 2
Artikelumschreibungen: siehe Seite 2

Article descriptions: see page 2



Fabric set
 Fixscreen® Minimal IM 1/7

ITEM PART NUMBER OMSCHRIJVING DESCRIPTION DESCRIPTION UMSCHREIBUNG TYPE

1 S6070096 Clicklock standaard Clicklock standard Clicklock standard Clicklock Standard S/M/L

 S6070098 Clicklock kast S MS 1 Clicklock caisson S M 1 Clicklock head box S IM 1 Clicklock Kassette S EW 1 S

2 S6070148 Lagerschuif kast S/M Coulisse du palier caisson S/M Bearing slide head box S/M Lagerschubteil Kassette S/M S/M

 S6070149 Lagerschuif kast L Coulisse du palier caisson L Bearing slide head box L Lagerschubteil Kassette L L

3 G6000190 DIN 913 - M8 x 90 - A2 DIN 913 - M8 x 90 - A2 DIN 913 - M8 x 90 - A2 DIN 913 - M8 x 90 - A2 S/M/L

4 S6070159 Doekbuisprop Ø 68 mm lagerzijde + as Embout de tube d'enroulement Ø 68 mm  
côté du palier + axe End piece fabric tube Ø 68 mm bearing side + axle Endkappe der Tuchwelle Ø 68 mm Lagerseite + Achse S

 S6070161 Doekbuisprop Ø 63 mm lagerzijde + as Embout de tube d'enroulement Ø 63 mm  
côté du palier + axe End piece fabric tube Ø 63 mm bearing side + axle Endkappe der Tuchwelle Ø 63 mm Lagerseite + Achse S

 S6070158 Doekbuisprop Ø 83 mm lagerzijde + as Embout de tube d'enroulement Ø 83 mm  
côté du palier + axe End piece fabric tube Ø 83 mm bearing side + axle Endkappe der Tuchwelle Ø 83 mm Lagerseite + Achse M/L

5 P6076110 Doekbuis Ø 68 mm - 6 m Tube d'enroulement Ø 68 mm - 6 m Fabric tube Ø 68 mm - 6 m Tuchwelle Ø 68 mm - 6 m S

 P6076510 Doekbuis Ø 63 mm - 6 m Tube d'enroulement Ø 63 mm - 6 m Fabric tube Ø 63 mm - 6 m Tuchwelle Ø 63 mm - 6 m S

 P6076210 Doekbuis Ø 83 mm - 6 m Tube d'enroulement Ø 83 mm - 6 m Fabric tube Ø 83 mm - 6 m Tuchwelle Ø 83 mm - 6 m M/L

6 P6077710 Insert doekbuis Ø 63 mm, 68 mm - 6 m Insert tube d'enroulement Ø 63 mm, 68 mm - 6 m Insert fabric roller tube Ø 63 mm, 68 mm - 6 m Einlage Tuchwelle Ø 63 mm, 68 mm - 6 m S

 P6077910 Insert doekbuis Ø 83 mm, 100 mm, 107 mm - 6 m Insert tube d'enroulement Ø 83 mm, 100 mm,  
107 mm - 6 m

Insert fabric roller tube Ø 83 mm, 100 mm,  
107 mm - 6 m Einlage Tuchwelle Ø 83 mm, 100 mm, 107 mm - 6 m M/L

7 SAV Motor Moteur Motor Motor S/M/L

8 G6070093 Eindkap A rechts zwart onderlat Embout A droite noir barre de charge End cap A right black bottom bar Endkappe A rechts schwarz Endschiene S/M/L

 G6070142 Eindkap A rechts grijs onderlat Embout A droite gris barre de charge End cap A right grey bottom bar Endkappe A rechts grau Endschiene S/M/L

 G6070143 Eindkap A rechts crème onderlat Embout A droite crème barre de charge End cap A right cream bottom bar Endkappe A rechts cremeweiß Endschiene S/M/L

 G6070144 Eindkap A rechts wit onderlat Embout A droite blanc barre de charge End cap A right white bottom bar Endkappe A rechts weiß Endschiene S/M/L

9 G6000066 DIN 7982 CH TX - 3,5 x 38 - A2 DIN 7982 CH TX - 3,5 x 38 - A2 DIN 7982 CH TX - 3.5 x 38 - A2 DIN 7982 CH TX - 3,5 x 38 - A2 S/M/L

10 G0002507 DIN 7982 CH - 2,9 x 9,5 - A2 DIN 7982 CH - 2,9 x 9,5 - A2 DIN 7982 CH - 2.9 x 9.5 - A2 DIN 7982 CH - 2,9 x 9,5 - A2 S/M/L

11 S6070094 Eindkap B rechts zwart Assy onderlat FXMI Embout B droite noir Assy barre de charge FXMI End cap B right black Assy bottom bar FXMI Endkappe B rechts schwarz Assy Endschiene FXMI S/M/L

 S6070145 Eindkap B rechts grijs Assy onderlat FXMI Embout B droite gris Assy barre de charge FXMI End cap B right grey Assy bottom bar FXMI Endkappe B rechts grau Assy Endschiene FXMI S/M/L

 S6070146 Eindkap B rechts crème Assy onderlat FXMI Embout B droite crème Assy barre de charge FXMI End cap B right cream Assy bottom bar FXMI Endkappe B rechts cremeweiß Assy Endschiene FXMI S/M/L

 S6070147 Eindkap B rechts wit Assy onderlat FXMI Embout B droite blanc Assy barre de charge FXMI End cap B right white Assy bottom bar FXMI Endkappe B rechts weiß Assy Endschiene FXMI S/M/L

12 P6023920 Afdichtingsstrip zwart Joint d'étanchéité noir Sealing strip black Dichtungslippe schwarz S/M/L

13 G6070109 Staaf 25 mm x 12 mm x 0,5 m onderlat Tige 25 mm x 12 mm x 0,5 m barre de charge Bar 25 mm x 12 mm x 0.5 m bottom bar Stäbe 25 mm x 12 mm x 0,5 m Endschiene S/M/L

14 P6078710 Insert onderlat uitneembaar 6M HPVC Insert barre de charge amovible 6M HPVC Insert bottom bar demountable 6M HPVC Einlage Endschiene herausnehmbar 6M HPVC S/M/L

15 P6076010 Onderlat profiel 35 mm x 40 mm 6M ALU Profil barre de charge 35 mm x 40 mm 6M ALU Bottom bar profile 35 mm x 40 mm 6M ALU Endschiene Profil 35 mm x 40 mm 6M ALU S/M/L

16 S6070092 Eindkap B links zwart Assy onderlat FXMI Embout B gauche noir Assy barre de charge FXMI End cap B left black Assy bottom bar FXMI Endkappe B links schwarz Assy Endschiene FXMI S/M/L

 S6070139 Eindkap B links grijs Assy onderlat FXMI Embout B gauche gris Assy barre de charge FXMI End cap B left grey Assy bottom bar FXMI Endkappe B links grau Assy Endschiene FXMI S/M/L

 S6070140 Eindkap B links crème Assy onderlat FXMI Embout B gauche crème Assy barre de charge FXMI End cap B left cream Assy bottom bar FXMI Endkappe B links cremeweiß Assy Endschiene FXMI S/M/L

 S6070141 Eindkap B links wit Assy onderlat FXMI Embout B gauche blanc Assy barre de charge FXMI End cap B left white Assy bottom bar FXMI Endkappe B links weiß Assy Endschiene FXMI S/M/L

17 G6070091 Eindkap A links zwart onderlat Embout A gauche noir barre de charge End cap A left black bottom bar Endkappe A links schwarz Endschiene S/M/L

 G6070136 Eindkap A links grijs onderlat Embout A gauche gris barre de charge End cap A left grey bottom bar Endkappe A links grau Endschiene S/M/L

 G6070137 Eindkap A links crème onderlat Embout A gauche crème barre de charge End cap A left cream bottom bar Endkappe A links cremeweiß Endschiene S/M/L

 G6070138 Eindkap A links wit onderlat Embout A gauche blanc barre de charge End cap A left white bottom bar Endkappe A links weiß Endschiene S/M/L

18 SAV Doek Toile Fabric Tuch S/M/L

SAV  Zie garantielijst Voir liste de garantie See list of guarantee Siehe Garantieliste


